Úloha 2

Tabulka č. 1: Zářiče 1 a 2
	 
	N [imp]
	tv+p [s]
	R [imp/s]
	R [imp/min]

	1
	10000
	510
	
	

	2
	10000
	852
	
	

	1+2
	10000
	327
	
	



Tabulka č. 2: Zářiče 3 a 4
	 
	N [imp]
	tv+p [s]
	R [imp/s]
	R [imp/min]

	3
	100000
	72
	
	

	4
	100000
	115
	
	

	3+4
	100000
	44
	
	




Úloha 3
Tabulka č. 3: 
	U [V]
	N [imp]
	t [s]
	R [imp/s]

	400
	0
	40
	

	450
	0
	40
	

	500
	0
	40
	

	550
	142
	40
	

	600
	663
	40
	

	650
	978
	40
	

	700
	1083
	40
	

	750
	1113
	40
	

	800
	1142
	40
	

	850
	1155
	40
	

	900
	1228
	40
	

	950
	1460
	40
	


[bookmark: _GoBack]
